ARROW R 0 OMP OR R 0
BOBB 8
PO 25 x 20 17 /1379
PO 25 x 30 17 /1380
PO 50 x 40 17 /1392
P 5443 15 /3445
PO 50 x 19 Type 3 15/ 3459
DO
PU 1A 17 /1482 -40
PU 1B 17 /1482 -50
PU 1C 17 / 1482 - 60
PU 2A 17 /1481 -40
PU 2B 17 /1481 - 50
PU 2C 17 /1481 -60
PU 3A 17 /1480 - 40
PU 3B 17 /1480 -50
PU 3C 17 / 1480 - 60
PU 4A 17 /1479 - 40
PU 4B 17 /1479 - 50
PU 4C 17 /1479 - 60
PU1IN 17 / 1482 Neoprene
PU 2941 17 / 1492 40 Shore
P 40 17 / 1566 - 60
P110A 17 / 0389 - 45-hole centre different
P1108B 17 /0389 - 60 !
P110C 17 /0389 - 70 "
P114 A 17 / 1463 - 45 no top hat cover
P1148B 17 /1463 -60 "
P114C 17 /1463 -70 !
P139A No equivalent, max load = 550 kg
P139B No equivalent, max load = 725 kg
P139C No equivalent, max load = 900 kg
o]\Y[: 0 » RO 00 O »
PS 1x2 A 17 /290 - A4
PS 1x2 B 17 /290 - A3
PS 1x2 C 17 /290 - A2
PS1x2 D 17 /290 - Al
PS 1x2 E 17 /290 - AO
PS 5x2 A 17 /213 - B4
PS5x2 B 17 /213 -B3
PS 5x2 C 17/213-B2
PS5x2 D 17 /213 -B1
PS 5x2 E 17/213-B0
PSHD A 17 / 346 - HD3
PSHD B 17 / 346 - HD2
PSHD C 17 /346 - HD1

O
PC100 ATYPE1

17 /1600 / 1 - 45 No Height Adjuster

PC100BTYPE 1

17 /1600 /1 - 55 No Height Adjuster

PC100CTYPE1

17 / 1600/ 1 - 65 No Height Adjuster

PC140 ATYPE 1

17 /1609 / 1 - 45 No Height Adjuster

PC140B TYPE 1

17 /1609 / 1 - 55 No Height Adjuster

PC140 CTYPE 1

17 /1609 /1 - 65 No Height Adjuster

PC 140 A TYPE 2

17 /1609 / 2 - 45 + M16 Height Adjuster




0 B
PC 140 B TYPE 2

0
17 /1609 / 2 - 55 + M16 Height Adjuster

PC 140 CTYPE 2

17 /1609 / 2 - 65 + M16 Height Adjuster

PC182 ATYPE 1

17 / 1657 / 1 - 45 No Height Adjuster

PC182BTYPE 1

17 /1657 / 1 - 55 No Height Adjuster

PC 182 CTYPE 1

17 /1657 / 1 - 65 No Height Adjuster

PC 182 ATYPE 2

17 /1657 /5 - 45 + M20 Barrell Height Adjuster

PC 182 B TYPE 2

17 /1657 / 5 - 55 + M20 Barrell Height Adjuster

PC 182 CTYPE 2

PS - 1 A Sandwich Mount

17 /1657 / 5 - 65 + M20 Barrell Height Adjuster

31 / 0406 - 45 with M8 stud

PS-1B ! 31 /0406 - 55 with M8 stud
PS-1C " 31 / 0406 - 60 with M8 stud
PS-1D ! 31 /0406 - 70 with M8 stud
PS-1E ! 31 / 0406 - 80 with M8 stud
PS-3A ! 31/0322 - 45
PS-3B ! 31/0322 - 55
PS-3C " 31/0322-60
PS-4A ! 31/0284 - 45
PS-4B ! 31/0284 - 55
PS-4C " 31/0284 - 60
PS-5A ! 31/0242 - 45
PS-5B ! 31/0242 - 55
PS-5C " 31/0242 - 60
PS-5D ! 31/0242-70
PS-5E ! 31/0242-80
OR A

P 193 17 /391

P 973 17 /379

P 772 17 /277

P 665 17 / 566

P 284 17 /482

P 143 17 /341

P 098 17 / 890

P 909 17 /909

P 1601 17 / 1061

P 6351 17 /1536

P 3831 17 /1383 -45

P 4831 17 /1384

P 8831 17 /1388

P 9831 17 /1389

P 2931 17 / 1392

P 1771 17 /1771

P 641 17 / 1460

P 1641 17 / 1461

16053 17 / 1650 CAB MOUNT

O 0
PSC 2 Core Mount 510-3-NS (BARRY) J 20595 (LORD)

PC 110 Combimount

RA 100/M12 110 bolt hole centres

PC 140 Combimount

RA 350/M16

PC 182 Combimount

RA 800/M16 (PC 182 has M20 thread)




